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Questions

The period of the trigonometric function y = sin x cos xis

The number of x-intercepts of y= sin xin his period

graph of sine function is bounded between lines

graph of trigonometric function y = sec x does not meet

Domain of sin xis
Domain of cosec x is
Domain of cos xis
Domain of sec xis
Domain of tan xis

Domain of cot xis

Range of sin xis

Range of cosec x is

Range of cos xis

Range of sec xis

Range of tan x is

Range of cot xis

Period of sin xis

Period of cos xis
Period of tan x is
Period of cosec x is

Period of sec xis

Answers Choice

wWN=O

gowm>» CTOW>
S< =
o
oo

ZrnT
D
[e]

f these

A. x - axis

B. y -axis

C. both axis

D. None of these

[-1,1]
R
Negative real numbers
None of these

Z 07
=N
N
=

legative real numbers
-{x]|-1&lt; x&lt; 1}

P

-

1,1

.R

. Negative real numbers
R-{x]-1&lt; x&lt; 1}

[
=N
N

—

.. Negative real numbers
.R={x]-1&lt; x &lt; 1}

Poln
N
-,

. Negative real numbers
.R-{x]-1 &lt; x &lt; 1}

1,11

R

. Negative real numbers
.R-{x]-1 &lt; x &lt; 1}

TOowW» UOowWP U0WP U0Wr O0WH UOwWrE
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Period of cot xis
Period of sin 3xis
Period of cos 2x is
Period of tan 4xis
Question Image
Question Image
Question Image
Period of 3 sin xis
Period of 2 cos xis

Question Image

Domain of 3 sin xis

Domain of 2 cos xis

Range of 2 tan x is

Range of 3 sin xis

Range of 3 cot xis

A function f(x) is said to be the periodic function if for all x in the domain of f, there exists a
smallest positive number p such the f(x + p) =

Domain of sin@is

Domain of coseis

Range of sin@is
Range of cos@is

Domain of cot@is

Range of tan(9is

Range of cot(9is

A.[-3, 3]

. Positive real numbers
. None of these

-2, 2]

. None of these

-2, 2]

C

D

A

C. Negative real numbers
D

A

B. -1 &lt; x &lt; 1

D

. None of these

1,11
.R
. None of these

)

-1
-3,

o > OoOw

1]
3]
D. None of these
A. f(p)
C. f(o)

D. None of these

B. Set of complex numbers
C. Set of natural numbers
D. Set of even numbers

A. Set of odd numbers
B. Set of integers

D. Set of complex numbers

A. Set of complex numbers

C. Set of odd numbers
D. Set of positive integers only
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Domain of secgis

Domain of cosec@is

Range of seceis

Range of coseceis

Period of Sine and Cosine function is

Period of Tangent function is

Period of Cotangent function is

The function sine and Cosine have the closed internal as their range

Domain of tangent function is

L. Set o1 even numoers only

A Z-{x|-1&lt; x &lt; 1}
B. W - {x|-1 &lt; x &lt; 1}

D.R
A W-{y|-18&lty&lt; 1}

C.O-{y|-1¢&lt; y &lt; 1}
D.R

A. <span style="color: rgh(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

C. -<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>mr</i>
</span>

D. -2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>mr</i>
</span>

A 0°

B. -<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

D. 2<span style="color: rgb(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

oo
3
=

A. -<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i></i>
</span>&gt; y &gt; +<span
style="color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>eo</i>
</span>

B. -<span style="font-family:
&quot;Times New Roman&quot;; font-
cize* 24ny: enlar rah(R4 R4 R4):
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The range of y = cot x =

Domain of y = cot x =

The range of y = sin xis

The Domain of y = sin xis

tan (7[—(9) =

The period of cosec 10x is

The period of tan [x/3] is

il e Bt R A N A By A
text-align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>&gt; x &gt; +<span
style="font-family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgb(255, 255,
248);"><i>e0</i></span>

D. None of above

A1, 1]

C. [0, -1]

D. [-<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>+<span style="font-family:
&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>co</i>
</span>]

B. Rational
C. Irrational no.
D. None of above

A. - sin<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

C. - cos<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

D. - cot<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

A. 2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B. <div style="text-align: start;">
<span style="text-align: center;
background-color: rgb(255, 255,
255);">4</span><i style="text-align:
center;">mr</i></div>

D. 5<span style="font-family:
&quot; Times New Roman&quot;; font-

Aimar DAnvn AAlAave v~ (24 24 242\
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Tangent is a periodic function and its period is

Sine is a periodic function and its period is

The period of tan X/7 is

The period of 2 cos xis

The period of cos(7x-5) is

The period of 3 sin xis

Tangentis ............... function

21 is the period of

DILE. L4PA, LUIVL. 1YU\O4, 04, O4),
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

A. 2<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B. 3<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

D. 4<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

A. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B.s

D. <div style="text-align: start;">
<span style="text-align: center;
background-color: rgb(255, 255,
255);">4</span><i style="text-align:
center;">1r</i></div>

A. 3

C.15m
D. 5m

O w>
~
E

/2
-11/2

ow>

2
-T1/2

Ow>

7
7m/2
2

ow>

om
3
5m

. Inverse
one-one
C.in-to

w> Uow

B. tan(]
C. cotl]
D. all circular function
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The range of the tangent function is

The period of the function csc x/4 us

What is the period of 5 cot x=?

What is the period of 6 sin x=?

What is the period of cos 6x =?

What is the period of tan 4/3 x =?

What is the period of sin 2x/3 cos 4x=?

The period of sin X2 = Cos X/3 is

The period of cot 8xis

The period of the trigonometric function y = sin x cos x is

The number of x-intercepts of y= sin x in his period

graph of sine function is bounded between lines

graph of trigonometric function y = sec x does not meet

Domain of sin xis
Domain of cosec x is
Domain of cos xis
Domain of sec xis
Domain of tan xis

Domain of cot x is

Range of sin xis

Range of cosec x is

OW>» DOW> UOW

w >

-1sx21
natural number
z<sup>+</sup>

4x
4

/8
m

-TT
2

-

C.m/2

Uow

oO0w

Om» DOw

oWm» DoUP

DOm» DO®

ow>

oOw» UOwW»

2
T4
4

41/3
/4

2m
2
3

2p
13p
10

om/7
9

21

4
m/2

xx1=0

.xty-0
. None of these

y -axis

. both axis
. None of these

. Negative real numbers

None of these

1.1}

egative real numbers
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98

99

100
101
102
103
104
1056
106
107
108
109

110

111

112

113

114

115

116

117

118

Range of cos x is

Range of sec x is

Range of tan xis

Range of cot xis

Period of sin xis
Period of cos xis
Period of tan x is
Period of cosec xis
Period of sec xis
Period of cot x is
Period of sin 3xis
Period of cos 2x is
Period of tan 4xis
Question Image
Question Image
Question Image
Period of 3 sin xis
Period of 2 cos xis

Question Image

Domain of 3 sin xis

Domain of 2 cos xis

Range of 2 tan xis

Range of 3 sin xis

Range of 3 cot xis

A function f(x) is said to be the periodic function if for all x in the domain of f, there exists a
smallest positive number p such the f(x + p) =

Domain of singis

Domain of cos@is

.R
. Negative real numbers
R-{x]-1 &l x&lt; 1}

1,1
R
. Negative real numbers

owW» UoOw

104

. Negative real numbers
.R-{x]-1 &lt; x &lt; 1}

L[-1,1]

. Negative real numbers
.R-{x]-1 &lt; x &lt; 1}

OOoOw>» OOwW>P

A [-3, 3]

C. Positive real numbers
D. None of these

A [-2,2]

C. Negative real numbers
D. None of these

A [-2, 2]
B. -1 &lt; x &lt; 1

D. None of these

—_

-1, 1]
.R
. None of these

)

1,1
-3, 3]

w» UOW

—_———

D. None of these

A. f(p)

C. f(0)
D. None of these

B. Set of complex numbers
C. Set of natural numbers
D. Set of even numbers

A. Set of odd numbers
B. Set of integers
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Range of sinbis
Range of cosbis

Domain of coteis

Range of tanBis

Range of cot(9is

Domain of secgis

Domain of cosec@is

Range of seclis

Range of cosec@is

Period of Sine and Cosine function is

Period of Tangent function is

D. Set of complex numbers

A. Set of complex numbers

C. Set of odd numbers
D. Set of positive integers only

B. (-1to +1)
C.(-5to0 +5)
D. Set of even numbers only

A Z-{x|-1&lt; x &lt; 1}
B. W-{x|-1 &lt; x &lt; 1}

D.R
A W-{y|-18lty&lt; 1}

C.O-{y|-1&lt; y&lt; 1}
D.R

A. <span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

C. -<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

D. -2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

A.0°

B. -<span style="color: rgb(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>

D. 2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>



130

131

132

133

134

135

136

137

Period of Cotangent function is

The function sine and Cosine have the closed internal as their range

Domain of tangent function is

The range of y = cot x =

Domain of y = cot x =

The range of y = sin xis

The Domain of y = sin xis

tan (77-0) =

</span>

B. -
C.0
D. -2m

A [1,0]

C.[0, 1]
D.[-1, 2]

A. -<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i></i>
</span>&gt; y &gt; +<span
style="color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>co</i>
</span>

B. -<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>&gt; x &gt; +<span
style="font-family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgb(255, 255,
248);"><i>w<[i></span>

D. None of above

A1, -1]

C. [0, -1]

D. [-<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>co</i>
</span>+<span style="font-family:
&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>]

B. Rational
C. Irrational no.
D. None of above

A. - sin<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

C. - cos<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>

</snan>
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The period of cosec 10x is

The period of tan [x¥/3] is

Tangent is a periodic function and its period is

Sine is a periodic function and its period is

The period of tan X/7 is

The period of 2 cos xis

o
D. - cot<span style="color: rgh(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

A. 2<span style="color: rgh(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B. <div style="text-align: start;">
<span style="text-align: center;
background-color: rgb(255, 255,
255);">4</span><i style="text-align:
center;">mr</i></div>

D. 5<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

A. 2<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B. 3<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

D. 4<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

A. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B.s

D. <div style="text-align: start;">
<span style="text-align: center;
background-color: rgh(255, 255,
255);">4</span><i style="text-align:
center;">1r</i></div>

A. 3m

15m
5m

30T
7
5m

ow» 0O

2
-11/2

@ >
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The period of cos(7x-5) is

The period of 3 sin xis

Tangentis .............. function

21 is the period of

The range of the tangent function is

The period of the function csc x/4 us

What is the period of 5 cot x=?

What is the period of 6 sin x=?

What is the period of cos 6x =?

What is the period of tan 4/3 x =?

What is the period of sin 2x/3 cos 4x=?

The period of sin X2 = Cos /3 is

The period of cot 8xis

C.

A
. -T1/2

oow

owx>

Cw>» DO

O®m» CDOmP TOW

o>

oOw» UOwW»

m

2

7
7m/2
2

om
3m
5m

Inverse
one-one
in-to

tan(]
cotl]
all circular function

-1sx21
natural number
z<sup>+</sup>

4x
T4

/8
1'r

-TT
2

-T1
2
2
4
4

411/3
Tml4



